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EXERCISE 5.1: Determine the output of a centralized averager
ylnl = L(x[n + 114 x[n] + x[n — 1])

for the input in Fig. 5-2. Is this filter causal or noncausal? What is the support of the output for this input? How would
the plot of the output compare to Fig. 5-3?
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ylol= 5 (xi)+ xlo) #x[1)) = §(4+2+0)=2
g1 = 5 (®1e] + k1) +x[2))= & (2+040)= 24

y[-2) =0
yii= L (x121+ =] Fxfel)= L(6+412)=4

Make a table:

n \<2\-1lo|1 {21214 s)e |27
K 0|2 +\6\4 2 |0 0
Y in] O %/5\2 4 ['4/3‘4 |2 |%|° 0

/ .
Since yfn'] 5"’37‘*5 sSUPPORT 1\5;
before x| => NoT causa| qen<s

McClellan, Schafer, and Y oder, Sgnal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.




